Delta

Tockal (x =-0.325)

noai- tockel = {{-o. 24894, % - 1}, {-o. 227272, % -1}, {-o. 209944, % -1},

{-0. 193242, % - 1}, {-0. 179798, % - 1}, {-0. 0916223, %-1},
{-0. 085503, %-1 . {-0. 0790764, g - 1}, {-0. 0728524, %-1},

0.52 0.59
{-0. 0666837, E-1}, {-0. 0454832, E_1}, {0. 0137923, 0 37645 }}

oufi0si- {{-0.24894, -0.32}, {-0.227272, -0.3}, {-0.209944, -0.28}, {-0.193242, -0.26},
{-0.179798, -0.24}, {-0.0916223, -0.04}, {-0.085503, -0.02}, {-0.0790764, 0. },
{-0.0728524, 0.02}, {-0.0666837, 0.04}, {-0.0454832, 0.18}, {0.0137923, 0.567273}}

in[1032):= Li st Pl ot [t ockel]

Out[1032]=
L]

P P B
-0.05

1 L L L L 1 L L L L 1 L L L L 1 L
-0.25 -0.20 -0.15 -010°

infro33;= fitl=FindFit[tockel, d«x*"3+a*x"2+bxx+c, {d, a, b, c}, x]

oui1033)= {d - 42. 0075, a —»29.2089, b~ 7.78996, c - 0.456968}

in[1034):= S1 = Show[Li st Pl ot [tockel], Plot [d*x"3+a*x"2+bxx+c /. fitl, {x, -0.4, 0.1}]]

Out[1034]=

Tocka2 (x =-0.225)
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in[1035):= tocke2 =
{{-o. 222873, %-1}, {-o. 203898, %-1}, {-o. 18708, %-1}, {-o. 16895, 0'._5-1},

0. 38 0. 48 .
{-o. 155189, - 1}, {-0. 0646842, =" 1}, {-o. 0573267, =" 1},
{_o. 0436538, % - 1}, {-o. 0188846, % - 1}, {o. 0402957, % -1 }}

(-0.203898, -0.3}, {-0.18708, -0.28},
(-0.0646842, -0.04}, {-0.0573267, -0.02},

{0. 0402957, 0.567273}}

out1035)= {{-0.222873, -0.32},
{-0.16895, -0.26}, {-0.155189, -0.24},

{-0.0436538, 0.02}, {-0.0188846, 0.18},

inf1036):= Li st Pl ot [t ocke2]
0.4;
0.2;
Out[1036]= [

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
-0.20 -0.15 -0.10 « 20.05

021

npo37)= fit2 =FindFit [tocke2, d«x"3+a*x"2+bxx+c, {d, a, b, ¢}, X]
ou1037)= {d - 43.7495, a - 26.3678, b > 6.34377, ¢ »0.269413}

in[103g):= S2 = Show[Li st Pl ot [tocke2], Plot [d*x"3+a*x"2+bxx+c /. fit2, {x, -0.5, 0.1}]]

T R R
-05 -04 -0.3

Out[1038]= [
051
-1.0 7

-15}
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Tocka3 (x =-0.125)

infose- tocke3 = {{-o. 199962, %-1}, {-o. 178369, %-1}, {-o. 160726, E-1},

0.37 0.38 . .
{_0. 142697, —-1}, {-0. 130138, —-1}, {_.02933, __1}, {_0.0231574, __1},
5 0.5 0.5 0.5
0.51 0.59 .59
{-o. 0171627, —-1}, {0. 0127393, —-1}, {0.0736125, —-1}}
0.5 0.5 0. 37645
ouf1039- {{-0.199962, -0.32}, {-0.178369, -0.3}, {-0.160726, -0.28},

{-0.142697, -0.26}, {-0.130138, -0.24}, {-0.02933, -0.02}, {-0.0231574, 0.},
(-0.0171627, 0.02}, {0.0127393, 0.18}, (0.0736125, 0.567273})

in[1040):= Li st Pl ot [t ocke3]
04l
02l
out[1040]= r

L 1 L
0.05

1 L L L L 1 L L L L 1 L L L L 1 L L
-0.20 -0.15 -0.10 -0.05 °

-02L

inf1o41]:= fit3 =FindFit [tocke3, dxx"3+ax»x"2+bxx+c, {d, a, b, c}, x]

outf1041]= {d - 36. 897, a - 20. 1586, b » 4. 66747, c - 0. 102508}

inf1042):= $3 = Show[Li st Pl ot [t ocke3],
Plot [dxx"3+a*xx""2+bxx+c /. fit3, {x, -0.5, 0.1}], PlotRange > Al ]

0.1

Out[1042]=
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Tocka4d (x =-0.025)

in[1043):= tocke4 =
{{-0. 175867, % -1}, {-0. 155509, % -1}, {-o. 1368, % -1}, {-0. 110141, % -1},
0.38 0.48 0. 49
{-0. 10541, =" 1}, {-o0. 00992469, —c " 1}, {-0. 00253436, " 1},

0.51 0.59
{o. 011572, w5 1}, {o. 0325455, w5 " 1}, {o. 0976977, S 3reds 1 }}

oufios3= {{-0.175867, -0.32}, {-0.155509, 0.3}, {-0.1366, -0.28},
(-0.119141, -0.26}, {-0.10541, -0.24}, {-0.00992469, -0.04},
(-0. 00253436, -0.02}, {0.011572, 0.02}, {0.0325455, 0.18}, {0.0976977, 0.567273})

in[1044):= Li st Pl ot [t ocke4]

0.4+

02}
Out[1044]= [

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
-0.15 -0.10 -0.05 oL 0.05 0.10

-0.2+

nfrossi= fit4 =FindFit[tocked4, d«*x"3+a*xx"2+bxx+c, {d, a, b, c}, x]

outf1045)= {d - 36. 6171, a »17. 7477, b > 3.7894, ¢ -~ -0. 00098811}

in[1046):= S4 = Show[Li st Pl ot [t ocke4],
Plot [dx*x*"3+axx"2+bxx+c /. fit4, {x, -0.4, 0.1}], PlotRange -» Al | ]

05+

| L L L L | L L L L | L L L L | L L L L L L L
-04 -0.3 -0.2 -0.1 L 0.1
Out[1046]=

-051

-10+
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Tockab (x =0.075)

nf1047)= tockes = {{-o. 152423, %-1}, {-o. 131847, %-1}, {-o. 114035, %-1},
{-0. 0981261, %-1}, {-0. 0815955, %_1}, {0. 0237111, %_1},

0.51 0.59
{0. 036113, w7 1}, {o. 0673714, =" 1}, {o. 138287, T 1 }}

oufi047)- {{-0.152423, -0.32}, {-0.131847, -0.3}, {-0.114035, -0.28},
(-0.0981261, -0.26}, {-0.0815955, -0.24}, {0.0237111, -0.02},
(0.036113, 0.02}, {0.0673714, 0.18), {0.138287, 0.567273})

in[104g):= Li st Pl ot [t ocke5]

0.4+

0.2
Out[1048]= [

T T S [ S S S T e I TS S R N N O S
-0.15 -0.10 -0.05 L ® 005 0.10

infros9;= fit5 =FindFit[tocke5 d*x"3+a*x"2+bxx+c, {d, a, b, c}, x]

ou1049)= {d - 22. 6914, a > 11.2636, b > 2.7327, ¢ » -0. 0824587}

in[1051):= S5 = Show[Li st Pl ot [t ocke5],
Plot [dx*x*"3+a*xx"2+bxx+c /. fith5, {x, -0.4, 0.2}], PlotRange > All]

Out[1051]=

S S S R R RS RS SR
-04 -0.3 -0.2 -0.1
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Tocka6 (x =0.175)

(064~ tocke6 = {{-o. 127956, %-1}, {-o. 111014, %-1}, {-o. 0919486, %-1},
{-0. 0746568, %-1}, {-0. 05990823, %-1}, {0. 0400255, %-1},

0. 49 0.50
{0. 0480319, w5 " 1}, {0. 0556724, =" 1}, {0. 195866, SSres " 1 }}

oufiosa= {{-0.127956, -0.32}, {-0.111014, -0.3}, {-0.0919486, -0.28},
(-0. 0746568, -0.26}, {-0.0599823, -0.24}, (0.0400255, -0.04},
(0. 0480319, -0.02}, {0.0556724, 0.}, {0.195866, 0.567273})

in[10e5):= Li st Pl ot [t ocke6]

041

0.2
Out[1065]= [

P S S S A U S S RS S S B
-0.10 -0.05 L £0%05 0.10 0.15 0.20

-0.2+

infroee:= fit6 =FindFit[tocke6, d*x"3+a*x"2+bxx+c, {d, a, b, c}, x]

ou1066)= {d - 8.47952, a > 6.04614, b >2.07379, ¢ » -0. 134584}

in[1068):= S6 = Show[Li st Pl ot [t ocke6],
Plot [d*x*"3+a*xx"2+bxx+c /. fit6, {x, -0.3, 0.2}], PlotRange > Al | ]

0.6}

04l

Out[1068]=

| L L L L | L L L L | L L L L [ L L L L
-03 -0.2 -0.1 // 0.1




fits.nb |7

Final Results

in[1101:= Show[s1, s2, s3, s4, s5, s6, PlotRange- All]

15f

Out[1101]= —0.5

C - Dependence

inpro70):= tockeC= {{-0.325, c /. fitl}, {-0.225, c/. fit2},
{-0.125, c/. fit3}, {-0.025, c/. fit4}, {0.075 c/. fith5}, {0.175 c /. fit6}}

outi070)= {{-0.325, 0.456968}, {-0.225, 0.269413}, {-0.125, 0.102508},
{-0. 025, -0.00098811}, {0.075, -0.0824587}, {0.175, -0.134584}}

inf1071):= Li st Pl ot [t ockeC]

04F
03}

02}
out[1071]= [

Ly
-0.3 -0.2 -0.1 r 0.1

—Ql}

inr105):= fitC=FindFit [tOCkeC, Oxx3+d#x?+ fax + g, {d, f, g, h}, X]
ou1105)= {d - 1.81944, f - -0.903333, g » -0. 0292416, h-> 0.}



8 | fit5.nb

inf1106)= Show[Li st Pl ot [tockeC], Plot [h«x®+d#x®+ fsx + g/. fitC {x, -0.4, 0.2}]]

Out[1106]=

B - Dependence

ino81):= tockeB= {{-0.325, b/. fitl}, {-0.225, b /. fit2},
{-0.125, b/. fit3}, {-0.025, b/. fit4}, {0.075 b/. fit5}, {0.175, b /. fit6}}

oufiosi- {{-0.325, 7.78996}, {-0.225, 6.34377}, {(-0.125, 4.66747},
(-0.025, 3.7894}, {0.075, 2.7327}, {0.175, 2.07379}}

in[1082):= Li st Pl ot [t ockeB]

out[1082]=

S S S RS S H ST
-0.3 -0.2 -0.1 0.1

nio71= fitB=FindFit[tockeB, d+x*+fxx +g, {d f, g}, x]
ou1107)= {d - 11.455, f - -9.79378, g —» 3. 43311}

inf1108)= Show[Li st Pl ot [tockeB], Plot [ dxx®+f «x + g/. fitB, {x, -0.4, 0.2}]]

oF

out[1108]=

-04
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A - Dependence

109~ tockeA= {{-0.325, a/. fitl}, {-0.225, a/. fit2},
(-0.125, a /. fit3}, {-0.025, a/. fitd}, {0.075 a/. fit5}, {0.175, a/. fit6}}

ou1109]= {{-0.325, 29.2089}, {-0.225, 26.3678}, {-0.125, 20.1586},
{-0.025, 17. 7477}, {0.075, 11.2636}, {0.175, 6.04614}}

in1110):= Li st Pl ot [t ockeA]

30~

5[

out[1110]= .

15[

L 1 L L L L 1 L L L L 1 L L L L § L L L L
-03 -0.2 -01 8 0.1

mp111)= fitA=FindFit [t ockeA, d*x?+f «x + g, {d, f, g}, X]
ouf1111]= {d » -23. 1811, f - -50. 2021, g - 15. 5068}

inf11121= Show[Li st Pl ot [tockeA], Plot [ dxx?+f «x + g/. fitA {x, -0.4, 0.2}]]

Out[1112]=

L e e e e e e e
-04 -03 -0.2 -0.1 - 0.1 0.2

D - Dependence
np113):= tockeD= {{-0.325, d/. fitl}, {-0.225, d/. fit2},
{-0.125, d /. fit3}, {-0.025, d/. fit4}, {0.075, d/. fit5}, {0.175, d /. fit6}}

ou1113= {{-0.325, 42.0075}, {-0.225, 43. 7495}, {-0.125, 36.897},
{-0.025, 36.6171}, {0.075, 22.6914}, {0.175, 8.47952}}
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in[1114):= Li st Pl ot [t ockeD]

out[1114]= 25F

15F

S S T S ISR R
-0.3 -0.2 -0.1 L 0.1 .

inpr11s)= fitD=FindFit [t ockeD, 0xx2+f xx + g, {d, f, g}, X]

ouriiis)= {d > -6.95758x10 *°, f - -66.0269, g - 26. 7883}

in1116= Show[Li st Pl ot [tockeD], Plot [ d«x®+f «x + g/. fitD {x, -0.4, 0.2}]]

501

out[1116]=

200

o e e b [ Lo L -
-04 -03 -0.2 -01 0.1 0.2



